
Figure 1: The learned router for PixArt-XL-2-512x512. The base solver is DPM-Solver with 20 NFEs.

Figure 2: The learned router for U-ViT-H/2. The base solver is DPM-Solver with 20 NFEs.

Figure 3: The learned router for DiT-XL-2. The base solver is DDIM with 20 NFEs.

Figure 4: The learned router for PixArt-XL-2-512x512, distilled with LCM. The base scheduler is 4-step LCM.

(a) Two giraffes walking next to each other. (b) A flying airplane through power lines. (c) A fire hydrant is sitting on a street corner.

(d) a kitchen with wooden cabinets a sink
and a dish washer

(e) A few sheep are eating some grass near
the water.

(f) An ... and an inside view of people stand-
ing in a subway car

(g) A bunch of bananas hanging from a tree. (h) Two people on a bench near the water. (i) The yellow truck is parked on the side ...

Figure 5: Comparison between L2C (left) and DPM-Solver (right) on PixArt-XL-2-512x512. Zoom in to see the details.


